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21l 2 U e1PSHSTH @6LeVMDeL QBLLSHETE HSLNSEH6]
() 15 (@) 37 @ 5 (") 11

14)A ={a,b,c}, B = {2,3} wpmid C = {a, b, ¢, d} eteolleb , n[(A N C) X B] sy6018

(<) 4 (<) 8 ()6 (rr) 12
1L Herau(mld enansg aflarmés@siGld allenweaflEsab:- (4x5=20)
15)A={xeW/x<2}, B={x€eEN/1<x<4} wpmid C = {3,5} eraflev, (AU B)XC=

(AXC)U (BXC) eretrug 2_emenown erenr GemdlésayLd.

16) x* — 8x® + mx? + nx + 16 ereévug @b PpeuFdsd eraflér M, N6 WHILS®mETS ST 6wHTS.

17) (—4,-2),(=3,k), (3, —2)wpgid (2,3)pdu yerallamer weaearsarmad Qamei Brharssler
urtiy 28 . oe@adr erefled, kK - ullelr wHIY sreams.

18) sewmiserr aflarésd QHéEGD QL SHS(HHE s rHATHT Hensuiledr @(m SLILIOSET LiLIewTLD
QeuidleTper. soomsemy allardéssHler 2 FfAWleS(Hhs Qp sLiLsefler @mdssGsTenThSer

wepCu 60° wHpmid 45°. sludsErd®d QoL CGu 2 _drer Qsmemeay 200 (\/_3;1) S ereflev,
SRSy aflaTdsSFletT 2 UIFLD &HITewTSH.
1. Aereumb P allamés@pésd afleowaflésayib:- (2x8=16)

19x2—6x+9=0 crerp @MU E sweTUT ger Siasaflens SO  GUETLLID epeLb
QL TmS.

20)6 Q&.15 el @perer QUL b cuenyhg DB ewwSHSHHE 5 QF.15 Qsmeeallgierar @b
Yereaflenwd  @GolEsa|D. lilareafluiled(phg el L S5FH&HS CQsmTO®CsTOET uamThHI
Qasmr@Csr g6 SeThisamerd SarsilHs.
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L sflunenr afllenL,evwis CsibQsMSS er &:- (14x1=14)

1) n(A) =m wpgo n(B) =n crers. A - S(BHs B-&@ eamrupdssurl Qaupm saTblders
2_pa|safler QISs T 6wranflEans

(<q) m™ (<gp) n™ (&) 2™ -1 (rr) 277

2) F;=1,F, =3 wpgp F, =F, 1 + F,_, creng Qan@asliuger 5 o ers
(=) 3 (<21) 5 (2)8 (rr) 11

3) x2 —2x—24 wpgd x2—kx —6 —ufler 5.Qum.au. (X—6) erafled, k - ufleir Iy
(<) 3 (<) 5 (@) 6 (=) 8

4) AABC —ufié DE || BC. AB = 3.6 Gs.§, AC = 2.4 Q&..8 wpmib AD = 2.1 Q.8 erafléd, AE -
ufletr Ferib
(=) 1.4 Q5.5 (<=4) 1.8 Q&5 (®) 1.2 Q&85 (rfF) 1.05 Q&5

5) Qer@ésciur uLgfée LBAC = 90° wpmib AD L BC ereflé,

(<1) BD.CD = BC* (<y,) AB.AC = BC?

(®) BD.CD = AD* () AB.AC = AC?

B D C
6) (1,2),(=5,6),(7,—4) womid (k,—2) pweumenm euflenswner BeT@  (pemelilsTelsemmss
Q&M BTMHSISHHeT LPLIL LL@euID 6Teolled, k - ufledt L

(<) —4 (<) —2 (@) 6 () 3
7) (12,3),(4,a) ereiip yeraflasaner @Qemenré@d Gamiiger Fmiiey % erafléd, 'a’ -ufler Fiy
(=) 1 (=x,) 4 () -5 (rF) 2
8) x =11 crewd Qam@ssriurL. CrFECasML g6 FLOGTLITL TET S
(=) X - 5866 Devewnt (=) ¥V - ofsse Qanenr
(8) < gliyerefl auhld QecoaIb () (0,11) eretrp yerafl aufls Qs gib

9) Y wgflédr pemwowib Lerafl A — uflenr Qeii@ss15 Osmeeey 8 whmib X oi&féd jemwuyd Lerafl
B - Wenr &ewo" L $Qsmemevay O erefler, AB ererp CuiGamiig e swerum@®
(=) 8x+5y=40 (=y)8x—5y=40 (@) x=38 (FF) y=5

Due péEses s sda 2 s mbE 20 S 2 wrepearer s sdhler 2 &8, g
pfuauppler @péssGararmadr weapGu 30° wHpd 60°aalled Lo DHEGSE L L SHeir
2wy wHPID G &L LHsEEEE Qe Cuujdrer Qamaneeurarg (LS L iflev)
(<) 20,103 (<) 30,5V3 (®) 20,10 () 30,103

11) @5 2 crafLpp 2 (pemeruflelr Qeuaflliyp wHYId 2 L Lp risaller s@sod 14 Q5.5 wHmb
s sigoer 4 QF.S Gb. o (Hearwlear 2 _wrb 20 QsS85 rafld, BiFmen 2 (HaumssL
vwertl L. Qumpeflesr &eor jemay
(<21) 56007 &.Q5.15 (=) 11207 &.Q&.5 (®) 567 5.Q5..8 () 36007 &.Q&..5

12) 16 Q&.15 2 wipgperer @@ Coiaul L & SabLiler QL ssamr L riser 8 Q.15 whmid 20 Qs .S
eratfled, DB H6UT DJ6TE
(<21) 33287 =.Q5.5(=y,) 32287 &.Qs.5 (®) 32407 =.Q5..5 () 32407 &.Q5..5

13)p Aauiy, q B, 7 LEems PlpE smPPMRsHEET 2 Tar @M GHoauld QEbs @b FHeuliy
Fo MG THLILSDHETE BlSLDS S T6r S

q p p+q p+r
(@") ptq+r (%) ptq+r (@) m (FI') ptq+r
14) @ H&EH Hapmoed QEmLUUESDHSTET HsDEs6] ( dafled, SHhs HeDNES Rapausmnatear HaDpssHe)
(@) 1-q (<) q @) () 24
1. Herau(mld enansg aflarmés@si@lb allenweaflEsab:- (4x5=20)

15) A earéig 8 - g aflé @ewpeurer Quicd erarseflenr sewrid, B ereiiig 8 - g @& Genpoeuren
uer erawsafler &ewrd wHmd C ereug @rre L, Lsm erawsefldr Seawrb  erefléd
AX(B—C)=(AXB)—(AX(C) ereuenssd sflumjdseyb.

16) 4x* — 12x3 + 37x% + bx + a erevrug @ WWaFésd crafléd a,b-er wWHILsmaTd SIS

17)A(=5,7),B(—4,k),C(—1,—6) wpmd D(4,5) p&w yeraflamer poarsarnad QEmer
prpersder Lriy /2 & o@sdr erafle, K - uller wHIY srams.

18) @(p semisemr alladéssdlear o sflulef(mhas aHATL) LEsRisalld 2 _drar @rewT® SLILIOSET
30° wpmib 60° YpéssGaramsdler unFésLLGHaper. soRismy alleTdssdlen 2 wrb h LS.
Q@ sLLdsdaTr LHOID sy allardssdlear DiLiLGH Yduma Cr CorGCamiged
Semdlearpen erefley, @rewr(@ sSLILMOSEHEEG QoL LILIL L. CQFTanea] % S ereor BlepLilss.

Hl. Aereumb Y allamés@pésd alleowaflésa)b:- (2x8=16)

199y =(x—1D(x+3) - ufler euerruLld eumThs, Sismear LwaTLRSH X2 —x — 6 = 0 ererp
FOGOTUTLE LG SToHEa|LD.

20) Qar@asriucL. wpaGanewrid POQR - 8@ 55 ussrsaflar aidsid % GTGT <EOOW|LOMM 6@(H

allg Caurss (WPECEHTTID cUTH. (D|6T6| STy amnf] %> 1)
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L sflunenr afllenL,evwis CsibQsMSS er &:- (14x1=14)
1) n(AXB) =6 wpmid A= {1,3} erefér, n(B) s
(<) 1 (<) 2 (8)3 () 6

2) @@ sL@50sT_jeuflosuiler wpasd 2 miiy 1 wHod Qurg allsfHunsd 4 erefléd, Lereumd
erawrsafled erg @Hhs5sS ol BHS0sTFauflensuilery BjemOU|D?

(<) 4551 (<24,) 10091 (@) 7881 (=) 13531
3) x+y—3x=—-6,-7y+72=7,32 =9 erenip Qsn@Liiear Fiey

() x=1y=2,z=3 (=) x=—-1y=2,z=3

@) x=-1y=-2,z=3 () x=1,y=2,z=-3

4) @ uRBWID 5 wHmibd LBRuingelsr sa@gsd 0 Qa6 LemIbL&CEHTsme
(<24) x2 — 25 (<) x> =5 (®) x? — 5x (") x2=5x+5

5) AABC —ufiéo AD yeng, LBAC -t @pewlautiy. AB = 8 Qs.15, BD = 6 Q&.15 wpmib DC =
3 Q5.8 erafled, udsb AC -uller 5erd
(=) 6 Q&5 (<=y,) 4 Qz.5 (®) 3 Qs.5 (rf) 8 Q&5

6) Qar@aésliurL. uL_SHe, PR = 26 Qs.15, QR = 24 Qs.5, £PAQ =90°, PA = 6 Q5.5 W HDILD
QA = 8 Q&.18 erefleo ZPQR - g& sneors.
P
0 0
It (<=1) 80 (<=1) 85

(@) 75° (rr) 90°
R Q

) A(gyTH) womib B(x + 1,y — 3) & ystaNsenen Qenans@  CaHML(hSGI6wmq.61  smLoLiLeTer

C(5,—2) eterflev, x, y - ufedr &L

8) 3x—y=4 wpod x +y = 8 & CriGenr@adr sHHEGLD Lerafl
(<) (5,3) (<) (2,4) (®) 3,5) () (4,4)

9) @Ff agfuler GwGew h S 2 wrsHe =2 drer @ yearaflulaimhgs CuwasHhEe o _drer
ghp&EGenemd . Guos Lbusdear @pésssCaramd 45%arafled, gifluiler Qmombas CoesHHS
2 drer 2 _wirwrerg (LWL iflev)
( ) h(1+tanp) ( ) h(1—tanp)
= 1-tanf 1+tanpf

10) @m saibLiler jigLiLm <2L,TID (POWL_RISTEE|D 2 Wb QJH WL RISTS6|D WrBlarmed ST 6Ta]
TS FHEE LOL_MBISTE LDMMILD?
(<=1) 6 LLRIEG (<) 18 wLmE (®) 12 wLrie (=) wrHpLdldene

11)x Qs.18 yreperar @p HamrosGasnard DBCS LTAPETET @(H S lbLms LIHPLILIGEADS orefld,
Sa bUiletr 2 _wiyb
(<=1) 3x Qs..8 (=) x Q5.5 (®) 4x Qs.8 () 2x Q.8

12) 15 Q&.8 2 wpapd 16 Q&8 sigliym ML upbd 2 LW @ CheUL LS FalbNeT suemeTULIL
(<) 60 &.Q5.18 (<) 66 Q818 (@) 1207 5.Q8.8 (=) 1367 5.08.15

13) @ pUMmEE CGaume oL LILgharea BapssaTars g Gauene ElenL_S&HmMoed @) (HLILISDHSTer

(@) h tan (450 -B) (rr) Dencu gemiLSleened

BlED S F6| g ereofled, X -ufledr wFliLimen g
() 2 (@)1 (@3 ()15
14) ewedTm) HIETNLMIGST &6 LU@GL CuTgl, cLpsiTMed Cr (&SRS HanLLLSHSTeT HSLNS &6
(=) ()7 (@) (=) 3
1L Herau(mld enansg aflarmés@si@lb allenweaflEsab:- (4x5=20)
15)A={xeW/x<2}, B={x€eEN/1<x<4} wpmid C = {3,5} eraflev,
AX(B NC)=(AXB)N(AXC(C) eretrug o _amenwown eren Gemflésayid.
16) @ s L_@5 Osmfeuflemsuiler 6 -cug wHmd 8 -eug o mriysefler 7 : 9 erefléd, 9 -eug wHmID
13 -aug 2 _piiysafler alldlsb smers.
17)4x* — 24x3 + 76x* + ax + b erevrug @@ WwaFésd cafléd a,b-er wWHILsmaTd STeTS.
18) @ el 5 fAasriy PpriupsHiIEEsD, 6 QeusTener FiPLiLIBSIEEED, 7 LEems BDLUILIHSISEHLD,

8 smuiy dlpliupsisEsd o dreTer. Fgwaumili] @enpuiled euuilefipbs @b UbS
r@EsLILGEDS. DHBsL ubs (i) Qeudrener (i) smUuy eoos  FHeuliy (iii)
Qeustenerwime @eemwe (iV) QeucTemeTwim&ayld, SUHLILTSG|D Qeemoe G(HLILISDHSTer

BlEBDFE®EUE HITEHT 5.
1. Aereumb P allamés@pésbd aflewwaflésayib:- (2x8=16)

19)y=x?>—5x—6 orep euerULID cuarhg, Sismert LweaL@SHE X2 —5x — 14 = 0 erevrp
FOGOTUTE L SToHEa|LD.

20) Qer@assiur L. waGeneawrid ABC - & ¢85 uisrisafilar afldsid g GTE HEOLOW|LDTM (1

6
allg Caurss (WPECEHTTID cUTH. (D|6T6| STy amnf] E)
UG
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L sflunenr afllenL,evwis CsibQsMSS er &:- (14x1=14)
1) (a+2,4) wpmid (5 2a + D) du aflenss Gsmgaer swb erafled, (a,b) ererug

2) @@ FL(s Osm_fauflesuiler 6-cug o _milifler 6 WLRGD 7-eugl 2 milifer 7 WLRIGD Fwb
erafled, &g L BS Qsmfauflensguller 13-cug 2 miliLy
(i) 0 (ca) 6 @7 () 13
3) ety wrPlaafles  DwHs wearm  Crflud  swaur@asafler  QsreUuUbhE  Sieyser
QovanewQuiciled, SQASTGLILND 2 _6T6T SeTmiser
(=) @Cr @@ yerafluiley Gaur B Eleormeor (=) @Cr @ Gamige GeuL B Elermeor
(8)) qerpler 155 ety QuUITUHBHSILD (FF) qerenpQuirermy GQeul L mrg
4) 4x* —24x3 +76x* +ax +b @ wpw eissb crafld, a wHmb b - ufler WHOIL
(<) 100,120 (=) 10,12 (@) —120,100 (/) 12,10
5) @wswués waGsrewrd AABC - wilé 20 = 90° whpmib AC = 5 Q&.15, eraflér AB e
(=) 2.5 Q&.15 (<) 5 Q.15 (@) 10 Qz.5 (7) 5V2 Q&8
6) auL s8letr QsTECETEL BB L TPL QsMGSSTE Djeowb @LLd
(1) emowibd (=) Gsryerafl (&) eprailed (FF) DT egor
7) @ seuflér DHCa BLbg Qseim QEmeamiy (HEGLD @UF BUHEGSD Fauhé@d P CGu 2 _drer
SITD 10 pwGsear. sy ! - pFeresds s@pilanmed, Hs Huf QeoIb UTms ererLg
(i) x = 10 (<) ¥ = 10 (@ x=0 () y = 0
8) 8y =4x + 21 eretrp Cri&Gamigen FLHTUM 14 HGE EPEsTaupPled eTg 2 emreno?
(=) smiey 0.5 whmd Y-Ceur @sgiar® 2.6
(=) smiey S wHmd Y-Ceur Gssar@ 1.6
(®) smiey 0.5 wLHmDd Y-CQaurBssear@ 1.6
() smiey 5 wHmDd Y-Qaur @ssaT® 2.6
9) @@ Wersbuwrers e guiléd Fwgert urllléd o drer g yYearafluild 30°Careamsos
TgoLBSSE DS - wad yeatallég b S e wrsdHed o drer @rewineugs Lereflullesmbs
lersbLsdlenr igd@ DpnéssCanamd 60° caflée Warsbusder o wrwrerg (LS L flé)
(<2i) V3b (<) 3 ©F (")

10) swwoner aflLib HmId 2 wiFb 2 LW @F 2 (heer, @U Faldbl] LHDID @(H CsmersHer &er
Sera|seflerr aildlsib

()1:2:3 (=4)2:1:3 (®)1:3:2 ()3:1:2

11) Qan@asciur L deusafled org Seupmens)? )
(<) P(A) > 1 () 0=PA) <1 (@) P(p)=0 () P(A) + P(A) =1

12) {(x,y)/y = 2x + 3} erettugent  euflengdCemqsen (a,—1) womid (5,b) eeolled a wWHMD b - 6
LDSIILGET (<) —13,2 (<) 2,13 (@) 2,—13 (4) —2,13

13) N&EaMIW usT eTetor LOOHMILD LOSEADOI LG eTetor sy &wieumilen LB.QUT.6u eTsdreor?
(=) 1 (<) 2 ()3 () 4

14) @@ ol BEAsTLFeuflensuer 8-eug MM 12-6ug 2 MItLseT wWemmGuwr 39 wmmib 59 eTefed , i 60T
LPpSeL 2 miy (<=1) 5 (<) 6 (®) 4 () 3

1L Herau(pld Demengg aflarmés@sd@lb alawallésaib:- (4x5=20)

15 A={xeN/1<x<4}, B={xeW/0<x <2} wpgp C ={x EN/x <3} erefleo,
AX(B NC)=(AXB)N(AXC(C) ereruenssd sflumjdseyb.

16) @ s @sQsm_feuflensuiler 7 —eug 2 miiy —1 wpmd 16 —eug 2 gy 17eaeaflled, oiz6r
Qurg 2 mIlIenLsE SIT6HrsS.

17) auf @ sepevid smesrs: 121x* — 198x3 — 183x2 + 216x + 144

18)
BTHST allgeu FFF0 GerSdblenr smerdlfL 2 6rp HOLOMTETS
UL G860 SMLigujeTerLily SeMESLILIL (heTerg eresfle,
2 _eTppHomSHletr LITLIL] HITewTs.

A(-4.-8) B(8.-4)

Hl. emeaumb Qm allarmésEpssd allenwaflésa)b:- (2x8=16)

19)(2x —3)(x +2) =0 cretrp @HUKE FwHTUT g6 SToyseclle ST®LOUW GUETLILLD ePEOLD
QL TmS.

20)4 Qs.18 yrepdTer @D cuemrhs s mwwsdlmhs 11 Q.18 Qsrawalgidrer @b
Yerafloowds @olSs, slilereflwilefimhg e L $5lh@ @rar® CsmrhGCsmr@sear cueanys.
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